Puzzle 10010 - Friday, 28 November, 2014 - Difficulty 10

16 | | | 72 30 15 |18
3|8 415611927
T I N | |
6|5 1[719|2]4/|8]3
"2’3’::’:::,} 17273””1 | i : ‘ 1’;1’:::1 3’3’””:::,}
9]|7}2)3/8 /4|6 1|5
: I | ‘ I i 16!
519 74 2161831
i 3 :1’1’””:::,: 2’}:’:Z’ff,lll,:i:f: ,iiiii‘ i i % i
213|811 |7 |9([54:6:
5’,1111‘,:::::;:"1’1’1111 “2’4’11"’,:::: | i ‘{éiiil : ;
4|16 )8 |5 3279
’gffiiijfffff,ﬂ: i i : :’7’,::1 :2’1’::’::::: i : :1’2’::3
71215193 [8]|1/6 4
%ff:iijffffff,: k1’2’iiil i i i i} ’1’5’111 ——
116924 73|58
;’2’””:::, 3‘7’1111‘,:::,“ ”1’1”" ——
8|4)3fo6 | 1]5)719]2

Copyright (c) www.dailykillersudoku.com



